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n1 sinθ1 = n2 sinθ2




1. Light in air (n1 = 1.0) hitting a glass prism (n2 = 1.5) at an angle of 55o  is bent towards the normal. Find the angle that the light makes inside the prism,  θ2






2. Find the angle that the light emerges from the prism at, (θ3)
3. Does the light emerge from the prism along path P1 or P2 ?
4. Find the critical angle for an optical fiber whose core has n = 1.55 and whose cladding has n = 1.59

5. Light launched into the fiber is bent towards the normal upon entry. Find the maximum launch angle that the fiber will accept (see diagram)
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